H M5 S38UHY

B s2 oz gz

i ¢l A A A
<) X o =+9 5 Y
E]_X]' 1:] KB lﬂ = = 'q _%]_ (_%_‘/_;\_) H iy
M104FE 318 A} &b SIAtEFTO|
. e
2023-03-01 ol ot M2 154800 9 (AlHOHZ 219) r
olyEE x| T2 Hg PELE
. e
2023-03-02 224 QF H|E X2 29000\ 4 (BHrE|T)2 2144) r
o|HBOH MBS OHxt7HEY =THA82Y
. e
2023-03-03 EIERSE! 10200014 o mxiza 15-9) r
HIMAA% X9 23 %t d3aEre
_03- 4 =
2023-03-06 Az bl X2 40,000 (AlHCHZ 167) r
L2 Hohg 2= 8 QUIALIE MBAIEH
. ] e
2023-03-06 Chgp o) 420,000 (AIHTHZ 163) r
olgHot =g 9% dore
- - 9 [:
20230308 arniztrel Jhal v X1 e I B C - VLR =
38 T ORAEN R g2
. e
2023-03-07 MRt 242 180000 6 (HEE 452-3) r
M1z AAlZ| QHAZE =95 =
2023-03-07 ﬂ%lﬁl Ej&&l%@ ENE K 51,600 | 3 AT =
= Xl ' (AlEH =z 219
=]
H812| Az etdtA =9|& o}
03- o|5t OhxHZHELS| JhE| H|R - 7I=
2023-03-07 | S/ oHH _Xc.jl il B 24,000 | 3 (532 104-11) t
=]
HIMAl X9 2474 Obkb J|Z oy =
2023-03-10 | '12 == 3 Ly} o 84,000 4 (-C',J._l'__al EHE 2144) -
MBAIRFE S AT 34 gy
- - 9 E
2023-03-12 AN Q% TB OO0 S =xae wal 45 =
N TIHE| 7
CHeHRI 2 A| £ 0| 3| o & 0| & -
2023-03-14 HA$H;;LJ lﬁa 7|M||°X :l | 23,000 | 4 (FFAl BMH 7=
To®E | (e = |:||_|_J_|.>6-Hol_|-§ 594)




. 2l 7o 2 A
Q Al ¢ Lo ji 4
) 2} S IR I = ) (F&) E
HFSERR = iﬁ?j&% PvEpery
2023-03-15 floh ¢iot=2|E flTt 155,000 | 7 ~ o | 7tE
- MFAl 472 92 24)
QEZHE Y| HIEX|Z
o|Ysiot =0l fl%t M dtstet @ al
-03- 7IE
20230317 | omzigysl A blg XlF 3000013 (@712] 498-5) r
SR E e
(222 9) -
o|ysiot ko2 9Bt
2023-03-20 | o 5oicrs) px H|R XD 94,900 | 5
HEEs e
(=22 2165) -
O|Z|ALRX Z @ AP THEHS EEAR MBAEHE
-03- 7=
2023-03-20 4R x| 38400 | 3 Szt 2135) t
HIMAAZ X9l 242 Q%t CHLES oAbt
_03- =
2023-03-21 M3 HE&XlZ 140000 5 (EHH g 42) =
o) wQt =0l Q% HEEX N
-03- 7IE
2023-03-22 oxt7hCtS| bl=A|S 78000 | 3 ExUS z2z 27 t=
M dtotet @ 2|
HIMA X9l 242
2023-03-24 | 12 g 88,000 | 4 (@712 g8 A7l 7te
F HIE Xg
498-5)
Q%0 Jhe
(A2 163) -
2023-03-27 oldegs A4 2t HS 207,000 | 8
FElRE e
(AECHZ 163) -
YU+ Jhe
Rrstol w0l olsi (=282 81) -
OOt =02 23
0230329 | onzigs Hg X3 145490\ 5
AEtH{A T 2|ot Jhe
(282 81) -
oMz H THE UGE 9Tt oQTLEAIIE
2023-03-29 | = = 5l 223,000 | 8 =58t 7tE




